BT T 3 AR R U #HFHK

i il L2744 6A 1HR#E
Hh g e 5B x| 85t Hh 35 HEK 5 x| &t
LtEF—TH 760 779 795| 1,574| [RE=TH 1,199] 1,479| 1,458 2,937
tEFZ-TH 751] 840 848| 1,688 [hEWTH 753] 812 924| 1,736
TE—TH 1,744] 1,523 1,804] 3,327| |#E&HTH 955/ 1,130] 1,161 2, 291
TEI=TH 1,469] 1,389| 1,497[ 2,886| |[FEATH 834| 838| 848| 1,686
PEF—TH 784 939 970] 1,909| |BfiE—TH 1,093] 1,126( 1,187] 2,313
PEF_TH 495| 576| 593| 1,169| [BpE=TH 778|  674| 833| 1,507
FEF=TH 614] 815 833| 1,648| |HE=TH 393  444] 462] 906
PEFMETHE 756]  793[ 909| 1,702| (BpEETH 495| 595  631] 1,226
PEFRTH 962| 1,119[ 1,213| 2,332| [BERTH 993  967| 1,103 2,070
TEF—TH 811| 1,003] 1,033] 2,036] |[#xL—TH 1,859 1,683( 1,795] 3,478
TEF=-TH 278 361|356 717 [MML=TH 1,415[ 1,264| 1,288 2,552
TEF=TH 137|149 132| 281| |#WMIL=TH 871 802| 891| 1,693
TEFWTH 225| 296 303] 599| [MME—TH 1,766| 1,764 2,134] 3,898
TEFRETH 218 282 289 571| [MEZ=TH 1,611] 1,643| 1,910{ 3,553
TE—TH 941 917 851| 1,768| (ME=TH 1,549 1,722] 1,769] 3,491
TE-TH 476 647 649[ 1,296| [EE—TH 37 32 35 67
TE=TH 186 248 229 471 1#EE=TH b44] 435 568 1,003
BENAE—TH 436 563 568| 1,131| |#E=TH 1,116 1,114] 1,189] 2,303
MBAEZTH [ 1,411] 1,212| 1,285 2,497| ;FEH &5t 34, 263(35, 929|38, 328]74, 257
BAE=TH 219 336] 334] 670
EAEMRTH 26 41 32 13
EBAERTH 601 537 545| 1,082
BAENRTH 219 329 317 646
hE—-TH 810 938 944| 1,882
hE=-TH 673 173 813] 1,586 HwEEt 34, 263(35, 929|38, 328]74, 257




